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Clues for Logic Puzzle: S686LY

1. Eula was Misty's client.
2. Debra paid less than Lynda's client.
3. The client who paid $190 didn't get the Shiatsu massage.

4. Of the person who got the Hot Stone massage and the client who paid $180, one was Teri's client and the
other was Freda.

5. Olivia's client paid 30 dollars less than the person who got the Ayurvedic massage.

6. Ginger was either the client who got the Swedish massage or the person who got the Reflexology
massage.

7. Debra paid 10 dollars more than the person who got the Deep Tissue massage.

8. Ginger wasn't Lynda's client.

9. The client who got the Reflexology massage wasn't Olivia's client.

10. The client who paid $160 was either the client who got the Reflexology massage or Lynda's client.
11. Neither Ginger nor Inez was the client who paid $170.

12. The person who got the Reflexology massage paid 10 dollars less than Yvonne's client.

13. The person who got the Swedish massage was either the person who paid $180 or Lynda's client.
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